
       Parts List for 
 Master set # 5-18114

031904 DODGE NEON SRT-4

Rear sway bar bushing set: 5.5156
2  5751 17mm rear sway bar bushings
1 17039 Instruction Sheet
1 9.11108 Grease

Rear endlink set: 9.8119
8  4806 Bushings
8  15.03.01.39 Washers (1.250”x0.385”x0.110”)
2  15.05.05.39 Bolts (3/8”-16x7.5”)
2  15.07.01.39 Nuts (3/8”-16 Nylon Lock Nut)
2  15.10.24.39 Sleeves (0.562”x0.375”x3.375”)

Shifter bushing set: 5.1110
4  1184 Top bushing
4  1185 Bottom bushing
1  17402 Instruction sheet

Misc:
1  17410 Parts List

Parts list:

Energy Suspension recommends that you 
read over all the installation instructions 
and parts list before you start.

Front control arm bushing set: 5.3129
4  2406 Lower CAB horizontal bushings
2  15.10.409.39 Sleeves (0.812”x0.562”x2.272”)
2  3406 Lower CAB “top” bushings
2  3407 Lower CAB “middle” bushings
2  3408 Lower CAB “lower” bushings
1  17344 Instruction sheet
3  9.11101 Grease

Front sway bar bushing set: 5.5153
2  5316 24mm front sway bar bushings
1  17145 Instruction Sheet
1  9.11108 Grease
 
Front endlink set: 5.8107
8  8313 Bushings
8 15.03.01.39 Washers (1.250”x0.385”x0.800”)
2 15.05.66.39 Bolts (3/8”-16x4.5”)
2 15.07.01.40 Nut (3/8”-16)
2 15.10.226.39 Sleeves (0.562”x0.375”x0.400”)

Rear strut trailing arm bushing set: 5.7114
2  7006 Trailing arm bushings ”front”
4  7094 Trailing arm bushings “rear”
1  17401 Instruction sheet
1  9.11108 Grease

   OPEN FIRST!!        

17410

Updated 13/DEC/01   BRH

2004 Energy Suspension. All rights reserved.2004 Energy Suspension. All rights reserved.CC
May not be reproduced, in any form, or by any means,
without the written consent of Energy Suspension.
May not be reproduced, in any form, or by any means,
without the written consent of Energy Suspension.

1131 VIA CALLEJON,   SAN CLEMENTE, CA 92673

R


	Page 1

